
Welk getal ontbreekt t/m 2.000?

Oefening 1

1. 1.104  -     =  401

2. 1.118  -     =  35

3. 1.891  -     =  1.446

4. 1.856  -     =  787

5. 1.706  -     =  879

6. 1.682  -     =  1.401

7. 823  -     =  173

8. 914  -     =  9

9. 1.012  -     =  687

10. 1.636  -     =  558

Oefening 2

1. 1.681  -     =  779

2. 825  -     =  434

3. 857  -     =  205

4. 1.535  -     =  749

5. 1.030  -     =  223

6. 1.875  -     =  177

7. 404  -     =  49

8. 870  -     =  11

9. 1.238  -     =  398

10. 1.455  -     =  168

Oefening 3

1. 1.801  -     =  1.527

2. 1.972  -     =  1.582

3. 1.194  -     =  748

4. 1.877  -     =  443

5. 1.667  -     =  355

6. 1.811  -     =  735

7. 1.053  -     =  427

8. 1.816  -     =  260

9. 882  -     =  221

10. 1.442  -     =  584

Oefening 4

1. 1.659  -     =  793

2. 1.083  -     =  757

3. 921  -     =  555

4. 1.297  -     =  972

5. 1.555  -     =  651

6. 1.652  -     =  1.002

7. 1.547  -     =  197

8. 1.309  -     =  236

9. 979  -     =  128

10. 1.235  -     =  281
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Werkblad: Welk getal ontbreekt t/m 2.000? |
ANTWOORDEN

Oefening 1

1. 1.104  -  703  =  401

2. 1.118  -  1.083  =  35

3. 1.891  -  445  =  1.446

4. 1.856  -  1.069  =  787

5. 1.706  -  827  =  879

6. 1.682  -  281  =  1.401

7. 823  -  650  =  173

8. 914  -  905  =  9

9. 1.012  -  325  =  687

10. 1.636  -  1.078  =  558

Oefening 2

1. 1.681  -  902  =  779

2. 825  -  391  =  434

3. 857  -  652  =  205

4. 1.535  -  786  =  749

5. 1.030  -  807  =  223

6. 1.875  -  1.698  =  177

7. 404  -  355  =  49

8. 870  -  859  =  11

9. 1.238  -  840  =  398

10. 1.455  -  1.287  =  168

Oefening 3

1. 1.801  -  274  =  1.527

2. 1.972  -  390  =  1.582

3. 1.194  -  446  =  748

4. 1.877  -  1.434  =  443

5. 1.667  -  1.312  =  355

6. 1.811  -  1.076  =  735

7. 1.053  -  626  =  427

8. 1.816  -  1.556  =  260

9. 882  -  661  =  221

10. 1.442  -  858  =  584

Oefening 4

1. 1.659  -  866  =  793

2. 1.083  -  326  =  757

3. 921  -  366  =  555

4. 1.297  -  325  =  972

5. 1.555  -  904  =  651

6. 1.652  -  650  =  1.002

7. 1.547  -  1.350  =  197

8. 1.309  -  1.073  =  236

9. 979  -  851  =  128

10. 1.235  -  954  =  281
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